Math 1A (9:30am - 10:20am) What month 1s your birthday ?

Quiz 3 Version Y What are the first 2 digits of your address ?

Fri Apr 22, 2011 What are the last 2 digits of your zip code °
What are the last 2 digits of your DeAnza 1D number ?

)

SCORE: __ /30 POINTS

NO CALCULATORS ALLOWED

SHOW PROPER ALGEBRAIC WORK (USING THE THEOREMS IN 5.3 & 5.4)
USE PROPER NOTATION & SIMPLIFY ALLANSWERS WHERE REASONABLE

State both parts of the Fundamental Theorem of Calculus. SCORE: /4 POINTS
Use complete sentences and proper algebra & English as shown in class.

I'he velocity of an object at time ¢ (in seconds) is given by v(t) =3 — 3¢ ® meters per second. SCORE: /'S POINTS
[a] Find the displacement of the object from £ =0 to t =5 . Specify the units of your answer.
]
[b] Find the total distance travelled by the object from £ =0 to £ = 5. Specify the units of your answer.
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Find [~———dr. SCORE: __ /5 POINTS
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MULTIPLE CHOICE: CIRCLE THE CORRECT ANSWER SCORE: ___ /3 POINTS
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Find j (x° +x)sin(x4 +2x7 -5) dx SCORE: /4 POINTS
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Find the derivative of IV32 + 1 dt . Show each step CLEARLY as demonstrated in class. SCORE: ___ /4 POINTS
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The graph of f is shown on the right. Let g(x) = If({) dr . SCORE: /5 POINTS
[a] Find g'(—2) . Justify your answer VERY BRIEFLY. A UL S S o
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[b] At what value(s) of X does g have a local maximum (maxima) ?
Explain very briefly.
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[c] Is g concave up or concave d(?\i\gn on the mtcn al (6 “>
Explam very briefly. Answers without explanations will earn no points.
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